
CE590−3A_1

wavelength λ /nm
400 500 600 700

P60

0,0

   

1,0

   

2,0

LMS_R17M4 cone sensitivity y−max(λ)=1
s−R17M4,1(λ)=B31x

−
R17M4,1(λ)+B32y

−
R17M4,1(λ)

+B33z
−

R17M4,1(λ)
B3j 0,000 0,000 1,000 λ=440

P60:Σs−R17M4,1(λ)=21,73
xR17M4,1=0,3253
yR17M4,1=0,3313



CE590−3A_1

wavelength λ /nm
400 500 600 700

P55

0,0

   

1,0

   

2,0

LMS_R17M4 cone sensitivity y−max(λ)=1
s−R17M4,1(λ)=B31x

−
R17M4,1(λ)+B32y

−
R17M4,1(λ)

+B33z
−

R17M4,1(λ)
B3j 0,000 0,000 1,000 λ=440

P55:Σs−R17M4,1(λ)=19,96
xR17M4,1=0,3324
yR17M4,1=0,3415



CE590−3A_1

wavelength λ /nm
400 500 600 700

P50

0,0

   

1,0

   

2,0

LMS_R17M4 cone sensitivity y−max(λ)=1
s−R17M4,1(λ)=B31x

−
R17M4,1(λ)+B32y

−
R17M4,1(λ)

+B33z
−

R17M4,1(λ)
B3j 0,000 0,000 1,000 λ=440

P50:Σs−R17M4,1(λ)=18,03
xR17M4,1=0,3411
yR17M4,1=0,3532



CE590−3A_1

wavelength λ /nm
400 500 600 700

P45

0,0

   

1,0

   

2,0

LMS_R17M4 cone sensitivity y−max(λ)=1
s−R17M4,1(λ)=B31x

−
R17M4,1(λ)+B32y

−
R17M4,1(λ)

+B33z
−

R17M4,1(λ)
B3j 0,000 0,000 1,000 λ=440

P45:Σs−R17M4,1(λ)=15,95
xR17M4,1=0,3521
yR17M4,1=0,3667



CE590−3A_1

wavelength λ /nm
400 500 600 700

P40

0,0

   

1,0

   

2,0

LMS_R17M4 cone sensitivity y−max(λ)=1
s−R17M4,1(λ)=B31x

−
R17M4,1(λ)+B32y

−
R17M4,1(λ)

+B33z
−

R17M4,1(λ)
B3j 0,000 0,000 1,000 λ=440

P40:Σs−R17M4,1(λ)=13,70
xR17M4,1=0,3663
yR17M4,1=0,3821



CE590−3A_1

wavelength λ /nm
400 500 600 700

P35

0,0

   

1,0

   

2,0

LMS_R17M4 cone sensitivity y−max(λ)=1
s−R17M4,1(λ)=B31x

−
R17M4,1(λ)+B32y

−
R17M4,1(λ)

+B33z
−

R17M4,1(λ)
B3j 0,000 0,000 1,000 λ=440

P35:Σs−R17M4,1(λ)=11,33
xR17M4,1=0,3846
yR17M4,1=0,3991



CE590−3A_1

wavelength λ /nm
400 500 600 700

P30

0,0

   

1,0

   

2,0

LMS_R17M4 cone sensitivity y−max(λ)=1
s−R17M4,1(λ)=B31x

−
R17M4,1(λ)+B32y

−
R17M4,1(λ)

+B33z
−

R17M4,1(λ)
B3j 0,000 0,000 1,000 λ=440

P30:Σs−R17M4,1(λ)=8,86
xR17M4,1=0,4088
yR17M4,1=0,4169



CE590−3A_1

wavelength λ /nm
400 500 600 700

P25

0,0
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2,0

LMS_R17M4 cone sensitivity y−max(λ)=1
s−R17M4,1(λ)=B31x

−
R17M4,1(λ)+B32y

−
R17M4,1(λ)

+B33z
−

R17M4,1(λ)
B3j 0,000 0,000 1,000 λ=440

P25:Σs−R17M4,1(λ)=6,39
xR17M4,1=0,4406
yR17M4,1=0,4330


